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L (B/5)

B g & 6-10 7.8-8.6 8.1 v
HHEE (mg/) 100 <30-30 30 s
B Y48 &  (mg/) 10 <2 <2 v
WMEYEE (mg/) 2,000 280 - 947 556 =
WAL 48 & (mg/) 10 <05 <05 s
FLVEE (mg/)) 0.1 < 0.040 - 0.045 0.041 =
BOYERRHEE (mg) 100 <15 <15 =
HAE (mg/) 20 <10 <10 =
MéedE (mg/)) 0.5 <0.3 <0.3 =
WEr A E (me/) 1 <0.6 <0.6 =
FHEEMER (mg/l) 15 <7 <7 yass
EE2EFAE (mg)) 2,000 <100 - 254 165 s
HikE (mg/) 200 <20-29 23 s
(0 43 33-34 33 =
T V8 (mg/l) # ; - _ ]
EEeB

fif - (mg/D) 2 <04 <04 s
5 (mg/) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
#&  (mg/l) 1 <0.3 <0.3 s
i (me/l) 2 <05-1.0 0.57 =
o (mg/l) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 s
7K (mg/l) 0.05 <0.05 <0.05 s
#2 (mg/D) 2 <1 <1 =
#R (mg/l) 2 <04 <04 v
#  (mg/l) 5 <1 <1 =
P (mg/) 2 <1 <1 =
HEEBHEEH# (mg/) 10 <7 <7 s
B (mg/l) 5 <1.0-32 1.86 s
# (me/D) 10 <2 <2 =
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Aldrin (mg/l) 0.01 <0.01 <0.01 v
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR (mel) 0.01 <0.01 <0.01 e
FEEELEEY
REE (mg/) 0.1 <0.06 <0.06 &
EHEMLEY
1,1,1- = 8 2 5% (mg/) 0.05 <0.025 <0.025 e
ZEBE
% A K 48 & (mg/) 0.003 <0.003 <0.003 e
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B g 15 (7K) (%@8@@) 12.3-12.6 12.5 e
BB B | o | 56-96 70 B
ek
#% (ppm) 0.5 <05 <05 =
7K (ppm) 0.1 <0.02 <0.02 v
P8 & (ppm) 10 <05 <05 s
i (ppm) <05-3.9 1.79
# (ppm) <05 <05
#i (ppm) <1 <1
#£ (ppm) <05 <05
i ;;(I;f’ﬁ)‘ FEH) 25 <25-59 3.8 =
#  (ppm) 20 <1 <1 yss
W% (ppm) 10 <5 <5 =
R E (ppm) 10 <20-22 2.0 yss
#16Y) (ppm) 5 <5 <5 =
B8
g %fmjf W 5,000 <15 <15 v
AN EEE -
(ppm) 10 <5 <5 E
i&p;b)ztx@ﬁ Ny ) < <5 =
% & WA (ppm) 1 <1 <1 s
TCDD (ITEF %) -
(ppb) 1 <1 <1 =




